JFE

H20 204 H21.3
H20 | | ﬁ
e " R, 5 -"'I___:II
) — ‘.lt'l'r) . s
1 /2 1 /1 @
204 H21.3
25 25 m 2
—— — A — o 3
N.\Ezo = e N\ZO I _ g
S £ >
= H20 S15 H20 i
15 |
10 I I I ] -
2.8
5 28137
. 52 W43 [4 2.3 ‘ 2.4
H14 1 H15 1 H16 1 H17 1 H18  H19 A
’ S22 s 23229 393
geggegggegegn 10t/km2/2
20 t/km%/
2
3
Hi14 |H15 |H16  |H17
H20.4 [H20.5 |H20.6 [H20.7 |H20.8 [H20.9 |H20.10H20.11|H20.12H21.1 |H21.2 [H21.3 1 1 1 1
A N 2 2 3 2 2 3 2 2 2 2 2 2| N 40 40| 288 392
4 2 2 3 2 2 3 2 2 2 2 2 2 (9 38 37] 286 392
10 12 T1fi0 10 17]10 19]10 [0 ] 11 62 49| 27| 20
10 10 |10 10 |10 12[10  [10 |10 [10 |10 [0 10 |10 [0 [10
B [N 2 2 3 2 2 3 2 2 2 2 2 2
4 2 2 3 2 2 3 2 2 2 2 2 2 H18 [ H19
1610 [10 10 18] 12J10 14[10 17][10 [0
10 [0 |10 [0 [0 [0 |0 [0 |0 [10 |10 [0 N 9775
Cc N 2 2 3 2 2 3 2 2 2 2 2 2 (9 97 75
4 2 2 3 2 2 3 2 2 2 2 2 2 19 20
0 [0 16]10 _ [10 15 1310 [0 [10 |10 19 0 |10
10 [0 |10 10 |10 10 |10 [0 |10 10|10 [0
4 20 [ Heo |
204 H213
A 204 H213 0.01
N=52 »_ 0009 F A
B 204 H213 £0008 N
N=52 20007 F >
C 204 H21.3 0.006 +
N=52 0.005 F |H20 |
0.004 | d0oob4 0.003
oos - I B — = 1
0.002 - 0/0041 oloods
0001 - 0/0046 0[0024 0@1 o@z 00024 0'@7
0 Il Il Il Il Il Il
H14 1 H15 1 H16 1 H17 1 H18 H19
| 0003 mg/ ° |
1
H14 H14.10 11  H15 H153  H16 H16.6 H17.3  H17 H17.5 H18.4




